

Page # ①

Assignment No# 2

Teacher name

Sir Shakeel

Sub:

Linear algebra

Name

Amir Abbas

ID: 15499

Degree:

BS (S.E)

Semester:

3rd

Q 1:- Compute adjoint of ;

$$(i) \quad A = \begin{bmatrix} 1 & 2 & 5 \\ 2 & 3 & 1 \\ 3 & 1 & 2 \end{bmatrix}$$

Sol:-

$$A = \begin{bmatrix} 1 & 2 & 5 \\ 2 & 3 & 1 \\ 3 & 1 & 2 \end{bmatrix}$$

$$A_{11} = \begin{vmatrix} 3 & 1 \\ 1 & 2 \end{vmatrix} = 6 - 1 = \boxed{5}$$

$$A_{12} = \begin{vmatrix} 2 & 1 \\ 3 & 2 \end{vmatrix} = 4 - 3 = \boxed{1}$$

$$A_{13} = \begin{vmatrix} 2 & 3 \\ 3 & 1 \end{vmatrix} = 2 - 9 = \boxed{-7}$$

$$A_{21} = \begin{vmatrix} 2 & 5 \\ 1 & 2 \end{vmatrix} = 4 - 5 = \boxed{-1}$$

$$A_{22} = \begin{vmatrix} 1 & 5 \\ 3 & 2 \end{vmatrix} = 2 - 15 = \boxed{-13}$$

$$A_{23} = \begin{vmatrix} 1 & 2 \\ 3 & 1 \end{vmatrix} = 1 - 6 = \boxed{-5}$$

$$A_{31} = \begin{vmatrix} 2 & 5 \\ 3 & 1 \end{vmatrix} = 2 - 15 = \boxed{-13}$$

Page # ②

$$A_{32} = \begin{vmatrix} 1 & 5 \\ 2 & 1 \end{vmatrix} = 1 - 10 = \boxed{-9}$$

$$A_{33} = \begin{vmatrix} 1 & 2 \\ 2 & 3 \end{vmatrix} = 3 - 4 = \boxed{-1}$$

Co-factor of matrix A

$$\begin{bmatrix} +5 & -1 & -7 \\ +1 & -13 & +5 \\ -13 & +9 & -1 \end{bmatrix}$$

$$\begin{bmatrix} 5 & -1 & -7 \\ 1 & -13 & 5 \\ -13 & 9 & -1 \end{bmatrix}$$

$$A^T = \begin{bmatrix} 5 & 1 & -13 \\ -1 & -13 & 9 \\ -7 & 5 & -1 \end{bmatrix} \quad \underline{\underline{\text{Ans.}}}$$

Page # 3

$$(ii) \underline{\text{Sol:}} B = \begin{bmatrix} 3 & 4 & 5 \\ 2 & -1 & 8 \\ 5 & -2 & 8 \end{bmatrix}$$

$$B_{11} = \begin{vmatrix} -1 & 8 \\ -2 & 8 \end{vmatrix} = -8 - (-2)8 = \boxed{8}$$

$$B_{12} = \begin{vmatrix} 2 & 8 \\ 5 & 8 \end{vmatrix} = 16 - 40 = \boxed{-24}$$

$$B_{13} = \begin{vmatrix} 2 & -1 \\ 5 & -2 \end{vmatrix} = -4 - (-5) = \boxed{1}$$

$$B_{21} = \begin{vmatrix} 4 & 5 \\ -2 & 8 \end{vmatrix} = 32 - (-10) = \boxed{42}$$

$$B_{22} = \begin{vmatrix} 3 & 5 \\ 5 & 8 \end{vmatrix} = 24 - 25 = \boxed{-1}$$

$$B_{23} = \begin{vmatrix} 3 & 4 \\ 5 & -2 \end{vmatrix} = -6 - 20 = \boxed{-26}$$

$$B_{31} = \begin{vmatrix} 4 & 5 \\ -1 & 8 \end{vmatrix} = 32 - (-5) = \boxed{37}$$

$$B_{32} = \begin{vmatrix} 3 & 5 \\ 2 & 8 \end{vmatrix} = 24 - 10 = \boxed{14}$$

$$B_{33} = \begin{vmatrix} 3 & 4 \\ 2 & -1 \end{vmatrix} = -3 - 8 = \boxed{-11}$$

Co-factor of matrix B

$$\begin{bmatrix} 8 & -24 & 1 \\ 42 & -1 & -26 \\ 37 & 14 & -11 \end{bmatrix}$$

$$\begin{bmatrix} 8 & 24 & 1 \\ -42 & -1 & 26 \\ 37 & -14 & -11 \end{bmatrix}$$

$$B^T = \begin{bmatrix} 8 & -42 & 37 \\ 24 & -1 & -14 \\ 1 & 26 & -11 \end{bmatrix} \quad \underline{\text{Ans}}$$

Q2:- Find the co-factor of A_{21}, A_{31}, A_{33}

if $A = \begin{bmatrix} 1 & -2 & 3 \\ -2 & 3 & 1 \\ 4 & -3 & 2 \end{bmatrix}$

Solution:-

$$A = \begin{bmatrix} 1 & -2 & 3 \\ -2 & 3 & 1 \\ 4 & -3 & 2 \end{bmatrix} \quad (-1)^{i+j}$$

$$A_{21} = (-1)^{2+1} \begin{vmatrix} -2 & 3 \\ -3 & 2 \end{vmatrix} = -(-2)(2) - (-3)(3) = 13$$

$$A_{31} = (-1)^{3+1} \begin{vmatrix} -2 & 3 \\ 3 & 1 \end{vmatrix} = (-2)(1) - (3)(3) = -11$$

$$A_{33} = (-1)^{3+3} \begin{vmatrix} 1 & -2 \\ -2 & 3 \end{vmatrix} = (1)(3) - (-2)(-2) = -1$$

So

Co-factor of A_{21}, A_{31}, A_{33}

$$= \begin{bmatrix} 1 & -2 & 3 \\ 13 & 3 & 1 \\ -11 & -3 & -1 \end{bmatrix}$$

Ans ✓

Q3:- Find Eigen values and Eigen vectors.

Solution:-

$$A = \begin{bmatrix} 2 & 1 & 1 \\ 1 & 3 & 2 \\ -1 & 1 & 2 \end{bmatrix} \quad I = \begin{bmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{bmatrix}$$

$$|A - \lambda I| = 0$$

$$A - \lambda I = \begin{bmatrix} 2 & 1 & 1 \\ 1 & 3 & 2 \\ -1 & 1 & 2 \end{bmatrix} - \lambda \begin{bmatrix} 1 & 0 & 0 \\ 0 & 1 & 0 \\ 0 & 0 & 1 \end{bmatrix}$$

$$A - \lambda I = \begin{bmatrix} 2-\lambda & 1 & 1 \\ 1 & 3-\lambda & 2 \\ -1 & 1 & 2-\lambda \end{bmatrix}$$

$$|A - \lambda I| = 0$$

$$2-\lambda \left((3-\lambda)(2-\lambda) - 2 \right) - 1 \left((1)(2-\lambda) + 2 \right) + 1 \left(1 - (3-\lambda)(-1) \right)$$

$$2-\lambda (6 - 3\lambda - 2\lambda + \lambda^2 - 2) - 1(4-\lambda) + 4 - \lambda$$

$$2-\lambda (4 - 5\lambda + \lambda^2) - 4 + \lambda + 4 - \lambda = 0$$

$$2-\lambda (\lambda^2 - 5\lambda + 4) = 0$$

$$2-\lambda = 0$$

Page # 7

$$2 - \lambda + \lambda = 0 + \lambda$$

$$2 = \lambda$$

or

$$\boxed{\lambda = 2}$$

$$\lambda^2 - 5\lambda + 4 = 0$$

$$\lambda^2 - 4\lambda - \lambda + 4 = 0$$

$$\lambda(\lambda - 4) - 1(\lambda - 4) = 0$$

$$(\lambda - 1)(\lambda - 4) = 0$$

$$\lambda - 1 = 0$$

$$\lambda - \lambda + \lambda = 0 + 1$$

$$\boxed{\lambda = 1}$$

$$\lambda - 4 = 0$$

$$\lambda - \cancel{4} + \cancel{4} = 0 + 4$$

$$\boxed{\lambda = 4}$$

Eigen Vector:

$$[A - \lambda I] [x] = 0$$

$$\begin{bmatrix} 2-\lambda & 1 & 1 \\ 1 & 3-\lambda & 2 \\ 1 & 1 & 2-\lambda \end{bmatrix} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = 0$$

For $\lambda = 1$

$$\begin{bmatrix} 2-1 & 1 & 1 \\ 1 & 3-1 & 2 \\ 1 & 1 & 2-1 \end{bmatrix} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = 0$$

$$\begin{bmatrix} 1 & 1 & 1 \\ 1 & 2 & 2 \\ 1 & 1 & 1 \end{bmatrix} \begin{bmatrix} x \\ y \\ z \end{bmatrix} = 0$$

$$x + y + z = 0 \rightarrow \textcircled{1}$$

$$x + 2y + 2z = 0 \rightarrow \textcircled{2}$$

$$x + y + z = 0 \rightarrow \textcircled{3}$$

$$\frac{x}{0} = \frac{y}{-1} = \frac{z}{-1}$$

$$\begin{bmatrix} 0 \\ 1 \\ -1 \end{bmatrix} \rightarrow \text{Eigen vectors for } \lambda = 1$$

R.W

For x

$$x = \begin{vmatrix} 2 & 2 \\ 1 & 1 \end{vmatrix}$$

$$x = 2 - 2$$

$$\boxed{x = 0}$$

$$y = \begin{vmatrix} 1 & 2 \\ 1 & 1 \end{vmatrix}$$

$$y = 1 - 2$$

$$\boxed{y = -1}$$

$$z = \begin{vmatrix} 1 & 2 \\ 1 & 1 \end{vmatrix}$$

$$z = 1 - 2$$

$$\boxed{z = -1}$$